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pg-TEQ/kg/

0.6pg-TEQ m’

1pg-TEQ 0

150pg-TEQ g

1,000pg-TEQ g

18 16 92 31
29
16 0.027 0.40 0.094 0.068
(pg-TEQ/m )
56 0.022 1.2 0.25 0.10
(pg-TEQ/ )
36 0.022 0.073 0.045 0.048
31 0.098 9.9 0.90 0.25
(pg-TEQ/Q)
29 0.052 23 3.3 1.8
(pg-TEQ/Q)
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30

23
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56

36

31

29

0.6pg-TEQ/m’

0.38

pg-TEQ/C
1.1
0.14pg-TEQ/ ¢

Pg-TEQ/C

150pg-TEQ/g

1,000pg-TEQ/g
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16
0.027 0.40pg-TEQ/m’

0.022 1.2pg-TEQ/C

1.2pg-TEQ/C 18 12

0.022 0.073pg-TEQ/C

0.098 9.9pg-TEQ/g

0.052 23pg-TEQ/g
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TEQ

1 0.022
2 0.022
3 0.022
4 0.025
5 0.025
6 0.022
7 0.048
8 0.048
9 0.051
10 0.048
11 0.048
12 0.048
13 0.048
14 0.068
15 0.052
16 0.048
17 0.053
18 0.048
19 0.048
20 0.049
21 0.052
22 0.048
23 0.048
24 0.048
25 0.048
26 0.048
27 0.048
28 0.050
29 0.048
30 0.073
31 0.048
32 0.048
33 0.048
34 0.048
35 0.048
36 0.048
30 Ne7 36
Nel 6
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1 5.5
2 2.7
3 1.3
4 2.6
5 1.7
6 4.9
7 0.052
8 2.2
9 2.3
10 1.2
11 0.96
12 12
13 1.3
14 1.1 1,000
15 0.06 TEéyé
16 0.44
17 1.1
18 1.8
19 2.5
20 8.5
21 3.1
22 23
23 0.49
24 8.0
25 0.57
26 1.1
27 0.33
28 1.9
29 2.1
23 Ne7 29
Nel 6




1 @) 0.14
2 0.13
3 0.10
4 0.11
5 0.13
6 0.11
7 0.25
8 0.098
9 1.9
10 0.37
11 0.13
12 0.30
13 0.24
14 0.10
15 3.9
16 0.93
17 0.71
18 1.6
19 0.91
20 2.5
21 0.23
22 0.14
23 0.14
24 0.11
25 0.22
26 0.30
27 0.30
28 0.25
29 9.9
30 0.25
31 1.3

150 pg TEQ g

25

3

3

Ne 25
No26 28
Ne29 31
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